1)A boys was asked to find the value of 3/8 of a sum of money. Instead of multiplying
the sum by 3/8 he divided it by 3/8 and then his answer exceeded by Rs. 55. Find the

correct answer?

T TSk Shi Uk TTIT ok 3/8 TEH T UAT ¢TI oF o0 Shgl TAT AT| AT Rt 3/8 & TOT A

o IS 38 30 3/8 O farsrirar foram ofiv i sorent Stamer su & 55 arferer gt mem agt

3T Rl JdT eiu?

(1) Rs. 9
(2) Rs. 24
(3) Rs. 64
(4) RS. 1320
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2)The sum of digits of a two digit number is 1 7 of the number. The units digit is 4 less

than the tens digit. If the number obtained on reversing its digits is divided by 7. The

remainder will be:

3T TR TEAT & 3TehT T AN 3T HEAT HT 1 7 21 THTS T 37k T2TS o 3k O 4 HH gl T
Tk 3Tkl Sl Il UX UTH HE&AT <kt 7 A Tt fera <ime at srwwhet gi:
" (a) 5(b) 4 (c) 6 (d) 1 (SSC CGL Tier-1I 2018, 11.09.2019)




3)The remainder when 75 x 73 x 78 x 76 is divided by 34 is:
75 x 73 x 78 x 76 %Y 34 ¥ fAruTiaa e WX AT UTH AT §

A (a) 15 (b) 22 (¢) 18 (d) 12




4) If 14331433 x 1422 x 1425 is divided by 12, then what is the remainder?
I 14331433 x 1422 x 1425 1 12 ¥ i foram STo, av iowwet s gim?
(@)3Md)9()8()6




5)If the seven digit number 56 x 34 y 4, is divisible by 72 then what will be the minimum

value of (x +y)?

afe AT Sieht Y HEAT 56 x 34 y 4, 72 8 A=A B AV (x + y) T FAAH HH FAT EW?
(a) 12 (b) 8 (c) 14 (d) 5 (SSC CPO 2018, 13.03.2019 Shift-1)




6)If a 9 digit number 32x4115y2 is divisible by 88, then the value of (4x — Y) for the
smallest possible value of y,

Al 9 iR HEAT 32x4115y2 88 ¥ FAWTT 2, AT y o ~AaH G AT o ToTT (4x - Y)
T |,

(a) 31 (b) 20 (¢) -1 (d) 11 (SSC CGL Tier-I 2018, 06.06.2019 Shift-2)
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7)Let x be the least number which when divided by 15, 18, 20 and 27, the remainder in each case
is 10 and x is a multiple of 31. What least number should be added to x to make it a perfect
square?
T x T TH Bt 6 & ™ 15, 18, 20 31 27 & faraniaa o o gdies Rafe o swwer 10 2 g
3 x 31 ST IUTS g 3 UT ST ST ok ToTT x | i ©F =AAaW HEAT At AT amfgu?
(a) 39 (b) 37 (¢) 43 (d) 36 j
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8)Mr. AnKkit is on tour to Siachin and he has Rs. 360 for his expenditure. If he exceeds his tour
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by 4 days, he must trim down his daily expenditure by Rs. 3. For how many days is Mr. Ankit

on tour?

oft sifera foramRm o SR W T 3R 37k Ut &, 360 W & foru 2. afe 9 srux SR & 4 f& sy s
2, T 38 31U Sk @ H . 3. i el w2t simm sifera foraw femt o oo Se e 32
(a) 20 (b) 22 (c) 24 (d) 26




9)A man engaged a servant on a condition that he would pay him Rs. 80 and a pair of jeans after

service of one year. Servant for only 9 months and receives a pair of jeans and an amount of Rs.

55. The price of the jeans is
T STk = Teh A 1eRT ol 38 9T WX g forat for o2 38 Tk WTet <Y 9T o 9113 80 TUd 3R Teh

TS ST 2N HAeT 9 T & FoT0 Frert. i T 2R Teh ST {6 371 55 T <hY TT 979 H@T
g Hrhmas
2)20 b) 40 ¢)10 d)15




10)If the unit digit of 433 x 456 x 43N is (N + 2), then what is the value of N?
TfE 433 x 456 x 43N T TehTS 37k (N + 2) B, a7 N T €I T 22
() 1(b)8(c)3(d)6




11)Find the unit place digit in the given expression
T U ST W geRTE T 3tk T hiIfeTe
(153)7144 — (115)*123 — (111)"510 + (216)"*25
@)1M®d)Sc)6(d3




12)Find the number of zeroes in/ ﬁ‘?‘lﬁiﬁﬁ'@mﬂﬁiﬁﬁﬁ
129!,
(a) 31 (b) 33 (¢) 35 (d) 37




13)If the 10-digit number 8 9 7359y 7 x 2 is divisible by 72, then what is the value of (3x —y),

for the possible greatest value of y?

gfe 10 SRR EEAT8 97359y 7 x 2, 72 A fAWTSA B, y o TTierar Stferehaw w3 forw (3x —

y) ShT HT T &2
(2)3 (b)8(c)7(d)5
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14)If the six digit number 4x4y96 is divisible by 88, then what will be the value of (x +2y)?
g B 3ieRT shl HEAT 4x4y96, 88 T TV 7, AT (x +2y) T I ST SRIT?

(a) 13 (b) 10 () 12 (d) 11




15)The sum of three consecutive odd natural numbers is 147. then , the middle

number is:

AT TR foree SEaTstt st I 147 ) R, wem v 2




16)The sum of first 20 odd natural numbers is equal to :

uge 20 forew TTehftreh HEATS T AT TR TWIEKR ¢:

(1) 210
(2) 300
(3) 400
(4) 200



17)The product of two positive numbers is 2500. If one number is four times the

other, then the sum of the two numbers is:
&1 &TcHeh HEATS ohT TUMTET 2500 ) Fie Toh HEAT O 8 TN AT &, ot St dansti
HT AT E:

(1) 25
2) 125
(3) 225
(4) 250




18)A man has some hens and cows. If the number of heads : number of feet =12 :

35, find out the number of hens, if the number of heads alone is 48.
Tk SATGHY o UTH o GRIAT AR T ¢ afe o 6y v O 6 dear = 12: 35, at
qfira sht AT 7T Y, TTS ket R Y TE&AT 48 B

(1) 28
(2) 26
3) 24
4) 22




19)The length of a road is one kilometer. The number of plants required for

plantation at a gap of 20 meters in both sides of the road is:

Ueh Hgeh chl TalTS Ueh TeheTIHICT B WSeh o ST TehTRT T 20 HiZT 3T g W
FRIRIUUT o TeTT SATTIeh YT hl TEAT &:

(1) 102
2) 100
3) 51
4) 50




20)Find the number of prime factors in the product of 25" x 107 x 14’
25'2 x 107 x 147 19T I[OTeT WS <hl HEAT AT ThIT
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~ 21)A certain number when successively divided by 8 and 11 leaves remainder

3 and 7 respectively. Find the remainder if the same number is divided by 88.

weh fafre dear o hitres &0 & 8 3 11 & frenfa 2t 2, swoor: 3 eiiv 7 9w
g ST | 99 <Rl 1T oh{ TS THTT HEAT 88 ¥ farwmiera B

(1) 57 -]
2) 51
(3) 59
4) 61




A certain number when successively divided by 3, 4 and 8 leaves remainder 1,

2, 3 respectively. Find the remainders when the same number is divided by

reversing the divisors.

U FAfara STt I il U W 3, 4 3TR 8 § farwrierd foram SmaT 8, shAwT: 1, 2,
3 Y| SIS Ueh &1 HEAT o faIWTsTeRt st 3ete o Tarwmfora ferat imar 2, av sramw

BIEEAIE LY 13,21
2)4,1,1
(3) 4,2,1
41,4,1




Find the least number of five digit which is divisible by 666.
Tl 3TehT hl TaH BT WEAT AT hITSTT ST 666 T 9T 21

(1) 10656
(2) 10665

(3) 10566
(4) 15066






Which of the following fraction is the smallest?

FraferRae & & =i @ eivr wER BieT 27
7 7 4 5

6957

(1) 7/6
2) 7/9
(3) 4/5
4) 5/7




The smallest possible three-place decimal is :

T BT GHT A T-TUTT IHA 2

(1) 0.012
(2) 0.123
3) 0.111
(4) None of these




Which of the following is the smallest fraction?

fAerferiaa o & 19 91 a9 BieT i 2
8 7 11 14
25°23°'23°53

(1) 8/25
(2) 7/23

(3) 11/23
(4) 14/53




4 / 9
The least number among 9’29’ 0.45 and (0.8)” is-

. 4 / 9
WW%WWW 6 , E , 0.45 ,(0.8)2 _

(1) 4/9

—
9

) %9
(3) 0.45
(4) (0.8)°




A number when divided by 899 gives a remainder 63. If the same number is divided
by 29, the remainder will be:

899 T forsTiTa 1M UX Ueh TTEAT AW 63 2l | TfS THTT H&AT aht 29 O farsrisra fera
SATAT g, a7 I ST M2




The smallest number to be added to 1000, so that 45 divides the sum exactly, is :

1000 % 2 ST STt et S T, AThh T 45 & frewer R 81, T8 5




The product of two numbers is 9375 and the quotient, when the larger one is

divided by the smaller, is 15. The sum of the numbers is:

Y AT T I[UFTS 9375 ¥ IR ARTHHA, TS 75T i Bie o fawivra fran
SATAT 2, AT 15, TEAT /T AT 3

(1)395
(2) 380
(3) 400
(4) 425




The remainder when 3! is divided by 5 is —

I 32 & 5 Y FraTiTa T WA R -




9°_11 when divided by 8 would leave a remainder of :

96_11 9= 8 ¥ frwTiaa fepaT STaT 2, v oI




998

999 999 X 999 js equal to :

(1) 998999

(2) 999899
(3) 989999
(4) 999989




(2714224273427 is divisible by-




If 5432%*3 is divisible by 9 then the digit in place of * is :
qfE 5432 * 3 9 & fAwTo 47 * o T W 31




If 78 * 3945 1is divisible by 11, where * is a digit then * is equal
i 78 * 3945 11 W [T 7, W1 * Ueh AR g Al * SR




4%1 + 4%% +4% +4% js divisible by -




ShTS AT 31eh FTA &Y (2153)"167-




Find unit place of the number (264)*103 +(264)"105-
SEhTS AT 31eh 1A &Y (264)7103 +(264)7105




